
Futura Trailers – Rock Guard Installation Procedure


The purpose of this procedure is to detail the process of installing a Rock Guard on a Futura Sport 
Range trailer.


Tools:

- 6mm Allen Key


Parts List:

- Rock Guard (RG195, RG200 or RG205)

- M10 X 21mm Flat Washers

- M10 Spring Washers	 	 	 - 

- M10 X 50mm Button Screws

- Loctite Threadlocker 222


	 


Step1: Remove the grommets from the trailer chassis





futuratrailers.com



Step 2: Take the 5 M10 X 50mm button screws and place an M10 spring washer first followed by 
an M10 X 21mm flat washer on each screw. Apply Loctite threadlocker 222 onto the tip of each 
screw.





Step 3: Place the Rock Guard into the mounting position at the front of the trailer chassis resting 
it on the drawbar





Step 4: Install the 2 side screws first (one on each side of the chassis) making sure they line up 
with the holes and rivnuts in the chassis. NOTE: You must ensure the holes line up as cross 
threading the screw in the rivnut mounted on the chassis can cause the rivnut to loosen from the 
chassis.


futuratrailers.com






Step 5: Install the remaining 3 M10 X 50mm button screws into the 3 holes at the  front of the 
trailer chassis.





Step 6: Check that the Rock Guard has been properly mounted and sitting correctly. Check that 
all screws have been properly tightened.


For any questions please do not hesitate to call or email Futura Customer Services 


trailers@futuratrailers.com | 09-415-2563

futuratrailers.com


